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(1) ZHRE (V) TR LD v = 10 %
(2) Bd & 9REE (m)
mp = I'g%\, 33. 8 N/mu
1 o
100
IoT m = 338 N/wf
(3IARKTASFEW/C)  m = -17.5 F 9.9 X C/W
W/C = 26.9 + (3.8 + 175 X 100 = 52 % = [55% (LIE) ]
W/C =5) %
(4) Bl KE W) e DS ZED W = 114 ke/od
(5)Bfrt A > NE(C) C =W = (W/C) X 100 = 174 ~ 52 X 100 = 335 ke/m
Cv= C + B = 335 + 3.04 = 110 L/
(6) 256 (A) A =45 % X 1000 =45 L/t
(7)) MlEME(s/a) VTHEOERKICED s/a = 45.4 %
(8) Bl AIE B (S)  Sv = (1000 — WECVvTA)) X s/a = 671 X 45.4 % =305 L/
S = Sv X EELEE = 305 X 2.60 = 793 kg/m
SI =S X 50.0 % = 396 ke/oi
S92 =S X 50.0 % = 397 ke/mi
(0) B EHE (G) = 1000 — (WHCv+Sv+AJ = 1000 — §34 = 36 L/m
G = Gv X FEHE = 366 X 272 = 996 ke/nd
Gl=0G X 300 % = 209 ke/od
G2 =G X T700% = 697 ke/ms
(10) BRI A (Ad Ad = C X GlE = 335 X 0.8200 % = 2 747 ke/m3
i & %= kg/m
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